FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am7pm Pacific Time, Mondagpaturday

ASSEMBLY INSTRUCTIONS FORTHE
DEL NORTE OUTDOOR

KITCHEN PAVILION




uas sued ay) UO paylew siaquinu ay) 01 Ydrew 10u op asay ] ‘Ajuo aoualalal 1) adgge] saxog Jo JUaIUODY] Ul SIaquinu ed :810N

aueILLINH puIp9[eD prepueis
‘palaplo J|
01 _.! ‘'saseq SIoyouy auedlunH Are im
10 puip BeD ‘prepuels

6 s100g Aep (I
8 SQ®e | J3sSe4Jooy v

L S|aued Jooy ‘Aep I
9 N4 saoelg 98U Ulep “KIep I
S A saoeig auy| Alepuodas ‘AR A (I
1% sa|Buen | ‘Arepn I

Bunpjoo|g usamiag-u|

2 A O — {m suoddng 2

2 o suoddns ajbuis 2

T | s1sod “Arep i
‘ON Buimeiq uonduosaq ‘Ad

S3X04d 40 LNJLNOD

Pl 1

DEL NORTE OUTDOOR KITCHEN PAVILION

www.ForeverRedwood.com



'9z1S uo Buipuadap Arepim arempiey INOA JGUOISUSWIC ;910N

‘(sjaued JooJ 8y 01 I9SE] J00J 3Y]
ne o] / ‘ss|Bueln ayy 01 sjaued Jool ay) yoene o])
SM319S 98d . 8/S T

D T e O e e e

a|Bueln enuad ay) 01 sjaued Joold ay) yoene o])
s)og ..z TT X ,.8/€

m T e O OO e O e

bjBueL) Ja1owad ay) 01 sjaued Jood ay) yoene o])
slod ,.%1 6 X ..8/€

h_ AR RN ARRARAANRRRARAANARRRANANY)

‘(s1s0d 8y 01 saoeiqg 9auy ay) yoene o])
sljod .6 X ..8/€

‘(s1sod ay1 01 s100q ay)
yoene/oguioddns syl 01 sa|bueln ay) yoene o)
SM310s X0aq | £

m T T T T T v reeeny

‘(suwoddns ayy 01 pue sajbueln ayl

590®Iq 99Uy 8yl yoene o] / 'sisod ayl o1 sajbuels

Byl yoene o] / ‘Bunoo|g usamiagdl yum suoddns

0] pue s)sod ay) 01 suoddns ajbuls ay) yoene o])
slod.,sx L X ..8/€

=

sas¥( Joyoue ay) 01 sisod ay) yoene o])
sjog Be7 e x ..8/€

e

"(punoib ay1 01 saseq JoydouwdY] yoene o])
sjog Joyduy .7 X .. %

‘ON

Buimeiq

uonduosaq

1SIT 3dvMAdVH

P| 2

DEL NORTE OUTDOOR KITCHEN PAVILION

www. ForeverRedwood.com



()

e

LH
5oz
) = %4598
S| d |~ ™ S |w| o |~|o|o|§ T 0
o) EE%
o o © ‘%EQ
n = Q
ol |B|%5|g|e|o|g|lw 8| =85
El 2|5 e S v | 8| o | 2| @ 3

o c X n

=| 2| n| =t c o | O o | = = c O
| S0 88|&§|22|s|u|d|8| orF ¥
OD._ o = CU¥ oﬂamE Q-CU

o 22| F S 2 >\

n = o | c o c E =
= ) c | = | X S

L ol Pm S| ® o < > <
D 1 OE Coe
= 0] ~ o O
n c O Q9
o $ E
..93
Lo <

o"l—

)]

Z =

P|3
DEL NORTE OUTDOOR KITCHEN PAVILION
www.ForeverRedwood.com



NOTE: In order to know where the post needs to be placed, check the numbers on them. Ifisheopasarked, thenlace the
single Supports on the ground to locate the markings for each post pasitiafearly set your bearings ( i Do nygttonlyat t a c
place them on the ground to begin with .

Step 1:Install the anchor bagqd0) with %2 X 4" anchor bolt§A)or | ag bol t s. Pl ease see the
document 6 for al (1) indhe saddlelofsthe anShotbaé8p Dritl a g0%/6 Botein the posprior to anchoring

to facilitate the ratcheting of the hardwaidter that, use 3/8” X 3”” lag boltgB) to attacheachpost to thets respectiveanchor

base(10).

3/8° X 3" Lag Bolts

Step 2 First attactthesingle support§2) to the postswith 3/8"" X 7 ¥2"" bolts(C). Each part has a series f npens that indicate
where to attach the part with the corresponding number.

3/8° X 7 ¥2'Bolts

P| 4
DEL NORTE OUTDOOR KITCHEN PAVILION
www.ForeverRedwood.com



Step 3:Put up the supports with-imetween blocking3), into the post notches as shown and attacheposts with the single
support boltgC). Eachpart has a series of numbers that indicate where to attach the part with the corresponding number.

Step 4: Attach the single supports to the supports witlvétween blockinguse3/8” x 7 ¥2""bolts (C). The quantity of bolts
depends on the length of the supports.

3/8° X 7 %" Bolts

P|5
DEL NORTE OUTDOOR KITCHEN PAVILION
www.ForeverRedwood.com



Step 5 Attachtheperimetertriangles(4) to the postswith 3/8"" x 7 %" ’bolts(C) and tothe supports with 8" x 3" deck screws
(D). Each part has a series of numbers that indicate vibextach the part with the corresponding number.

| 3/8” X 7% Bolts

3" Deck screws

Step 6: Attach the central trianglg(4) to the supports with 8" x 3" deck screwB). Each part has a series of numbers that
indicate where to attach the part with theresponding number.

Ry

3" Deck screws

P| 6
DEL NORTE OUTDOOR KITCHEN PAVILION
www.ForeverRedwood.com



